St. PBN Public School
Annual Examination 2024
Class- VI
Subject- English

Sample Paper
Time — 3 hours M.M -80
e INSTRUCTIONS:
e All questions are mandatory.
e Read the questions carefully before attempting.

SECTION- A (READING )

1.Read the passage given below and answer carefully: (5)

The Earth is divided into different zones based on temperature. These zones are formed
because the Sun does not heat all parts of the Earth equally. The first zone is the hottest
and is located between the Tropic of Cancer (23.5°N) and the Tropic of Capricorn
(23.5°S). It receives direct sunlight all year, making it very warm. The weather here is
hot and humid, and there is a lot of rainfall. Many countries like India, Brazil, and
Indonesia are in this zone. Thick jungles and rainforests grow here, and animals like
monkeys, tigers, and parrots are commonly found.

The second zone lies between the hottest zone and the coldest parts of the Earth. It has
warm summers and cool winters. The weather is pleasant, making it the most
comfortable place to live. Most of the world’s people live in this zone. Countries like the
USA, China, and France are in this region. The land here is good for farming, and
many crops grow well in this climate.

The third zone is the coldest and is found near the North and South Poles. It remains
very cold throughout the year because the Sun’s rays are weak. These places are
covered with ice and snow. Few people live here because of the extreme cold, but some
animals, like polar bears, penguins, and seals, survive in this zone. Countries like
Greenland and parts of Russia are in this region. These different zones help us
understand why some places are hot, some are mild, and some are very cold.

1. Which zone is the hottest and why does the coldest zone remain frozen?

2.. Name two countries that are in the hottest zone and where do most people in the
world live?



3. What kind of weather does the middle zone have and Which animals are found in the
coldest zone?

4. Why do jungles and rainforests grow in the hottest zone and which zone has warm
summers and cool winters?

5.Assertion-Reason Based Question

Assertion (A): The coldest zone remains covered with ice throughout the year.
Reason (R): This zone receives direct sunlight all year long.

Options:

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) Alis true, but R is false.

d) Ais false, but R is true.

2. Read the poem given below and answer the questions that follow: (1X5=5)

""The Road to Success"

Success is not a simple race,

It takes hard work, not just grace.

With every step, through thick and thin,
You must believe that you can win.
Failures come, but don’t feel low,

They help you learn, they help you grow.
Rise again and stand up tall,

Keep on going, give your all.

Patience, courage, and a dream,
Work with effort—make it gleam.
Every challenge is a test,

Keep on trying, do your best.



One small step, one steady mile,

Brings you closer—so just smile.

Success will come, just wait and see,

With faith and strength, you’ll set it free!

1. What is needed to achieve success according to the poem?
a) Only luck

b) Hard work and belief

c) Waiting for the right time

d) Giving up when failing

2. What should we do when we face failure?

a) Stop trying

b) Learn from it and keep going

¢) Complain about it

d) Blame others

3. Which quality is NOT mentioned in the poem for success?
a) Patience

b) Courage

c) Greed

d) Effort

4. According to the poem, what brings us closer to success?
a) Complaining about difficulties

b) Taking small, steady steps

c) Waiting for luck

d) Avoiding challenges

5.Assertion-Reason Based Question



Assertion (A): Success comes easily to those who wait patiently.

Reason (R): The poem says that hard work, patience, and courage lead to success.

Options:

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.
c) Alis true, but R is false.

d) Ais false, but R is true.

SECTION- B (GRAMMAR)
3. Fill in the blank with quantifying determiners: (0.5%6=3)

a)Thereis _ sugar left in the jar. (little / few / some)

b). Weneedtobuy  vegetables for dinner. (some / much / any)

c). Only _ children participated in the quiz. (a little / a few / much)
d) Shedrank _ water after the workout. (a lot of / many / few)

e). Doyou have idea about the new project? (any / many / several)

f)There are | books on the table. (several / much / little)

4 Choose the correct noun clause in each sentence. (1x3=3)
1. I don’t know what she wants for her birthday.

a) when she will come

b) what she wants for her birthday

c) where she is going

2. Can you tell me where he went after school?



a) where he went after school

b) what he did at school

c) how long he stayed

3. The teacher explained why the sky looks blue.
a) how the sky looks

b) why the sky looks blue

c) when the sky turns dark

4. | believe that hard work leads to success.

a) that hard work leads to success

b) that everyone works hard

) why success is important

5. She was surprised by how well he played the piano.
a) how well he played the piano

b) when he played the piano

c) that he played the piano

6. It is unclear who left the door open.

a) who left the door open

b) why the door is open

¢) how the door was broken

5. Re write these sentences correctly after correcting the errors.

1. He is better then his friend at playing basketball.
2. If she was here, she would help us.

3. | can able to complete the task by noon.

4. He is the most talented of the three singers.

5. We will meet on next Tuesday for the project discussion.

6. | went to the shop and bought a shirt, but | forgot buying shoes.

(1x3=3)



6.Convert the following sentences into passive voice: (0.5%6=3)
The chef has prepared a delicious meal for the guests.
. The teacher always explains the lesson clearly.
. The dog chased the ball across the yard.

1.
2
3
4. The singer is performing a stunning dance on the stage.
5. The doctor examined the patient thoroughly.

6

. The children built a sandcastle at the beach.

. Convert the following sentence into indirect speech . (1x3=3)
. "Please pass me the salt,"” requested Sarah.

"1 will meet you at the park," said Alex.

. "Can you help me with my homework?" asked Emma.

. "Don't forget to bring your umbrella,” reminded mom.

."I'm so excited for the party tonight!" shouted Lily.

o O A W N PN

. "Let's go for a walk," suggested Mark.

.. Identify the errors in sentence structure or concord in each sentence. (1x3=3)
. The books on the table need to be organized, but the chair is broken.

. He go to the gym every morning, but he don't like running.

. The team are practicing hard for the competition.

. Neither the teacher nor the students was prepared for the meeting.

. The teacher explained the lesson, and the students was taking notes.

o O A W N P,

. He has a lot of work to do, but he are not feeling well today.

9. Write the meaning of the following phrasal verb phrasal verb: (2)
1. Look Up



2. Give up
3. Wake up
4. Put out
SECTION-C (WRITING)

12.You are the purchase manager of XYZ School. Write a letter to M/s Stationery World,
Delhi, placing an order for school supplies such as notebooks, pens, and markers. Mention
the quantity required, request timely delivery, and ask for a discount on bulk
purchases.(7)

13.  Write an article for your school magazine on the topic: ""The Role of Discipline in
a Student’s Life." Discuss about the importance of discipline in achieving academic
success, maintaining good behavior, and developing time management skills. Provide
examples of how discipline helps students stay focused, build self-control, and achieve
their goals. Conclude with personal experiences or suggestions on how students can
cultivate discipline in their daily lives. (7)

14. "Describe a visit to a historical monument, capturing its grandeur, intricate
details, and historical significance. Include the sights of its architecture, the sounds of

the surroundings, the smells in the air, and the activities of visitors exploring its past.".

(6)

SECTION-D LITERATURE

16. Read the lines and answer the following questions:-
And so he was quiet, & that very night,

As Tom was a-sleeping he had such a sight!

That thousands of sweepers, Dick, Joe, Ned, & Jack,

Were all of them locked up in coffins of black;

a)Name the poem and the poet? (1)
b) Who was Tom and why he cried one day? (1)

¢) Find the rhyming scheme in the above given stanza. (1)



17. Answer the following questions in brief .( Do any four) (2X4=8)

a) How did Drupada behave with Drona on after he ascended the throne ?
b) Who was TCP aunty and what was she doing in the router?

¢) "Hungry?" said Gopal." Why didn't you tell me before?" Who said this to whom and and
what does it show about the change in the behaviour of the later?

d) Describe the struggle made by Gunnar and the dog Balto to make sure that the medicine
for Diptheria reach Nome on time?

d) "I find them in the garden.” Who found what and what has happened?

e) How did Holmes deduce that Henry Baker is the real culprit behind this robbery of
"Carbuncle™ ?

f) Why did revolutionary movement start after Rosa Parks was asked to leave her seat?

18. Answer the following questions in detail:- ( Do any four) (3x4=12)

a) Draw the character sketch of Rosa Parks.
b) Describe in detail how the robbery mystery was solved by Watson and homes?
c) Kaspar glorified war in the poem. Are wars only solution for any issue. Explain in detail.

d) Describe the role of Balto in delivering the medicine to Nome.

19. Case Based Questions: (2x2=4)
Being a friend is not just about having a good time with someone.
1. What makes a good friend?

2. What can we do to begin and keep friendships? Discuss.

20. Write the meaning of the following words:- (0.5X6=3)
a) obligingly Cc) intimacy.  e) boycott
b) segregation  d) scintillating  f) goin’
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St. PBN PUBLIC SCHOOL
ANNUAL EXAMINATION
CLASS - VII
SOCIAL SCIENCE
(SAMPLE PAPER: 2024-25)
Time: 3 Hours MM.80

GENERAL INSTRUCTIONS:
1. All questions are compulsory.
2. Do as directed.
Q1. Fill in the blanks (1x5=5)

1)  Benaras, Puri, and Mathura are examples of centers.

i) The_ was the group of 12 saints who were devoted to Lord Vishnu.
11)) river in the USA drains the prairie region.

IvV)A Is an intermediary between a farmer and merchants.

V) sector offers better healthcare facilities in India.

Q2. Choose the correct option and write in your answer sheet. (1x5=5)

i) Read the following two statements and assess the correct option.
Assertion(A): Todar Mal was Akbar’s revenue minister.

Reason(R): The Todar Mal bandobast was a crucial method for assessing land revenue.

a. Both(A) and (R) are true and (R) is the correct explanation of (A).

b. Both (A) and (R) are true but (R) is not the correct explanation of (A).
c. (A) is true but (R) is false.

d. (A) is false but (R) is true.

i1) The new form of music developed in Bengal is called

a. Kirtan c. Bhakti song
b. Baul d. Qawali
i)  Wild animal found in Ladakh.
a. Camels c. Giraffes
b. Wild Sheep d. Bison
iii) A market from where the consumer buys the goods at affordable prices
a. Weekly Market c. Wholesale Market
b. Retailer d. Mall
iv) Giving special value to a product is called
a. Advertisement C. Marketing
b. Branding d. Retailing

V) The public health centers are established by the



a. government
b. Anganwadi
c. individuals
d. local people
Q3. State whether the following statements are True or False- (1x5=5)
i) Urdu means ‘camp’ in the Turkish language.

i) The new Mughal capital Fatehpur Sikri was established by Jahangir.

i)  The temperature of air decreases from the equator towards the poles.

iv) Health of a country can be improved with the provisions of facilities for mental, physical and social
well-being of people.

V) Newspaper is a means of personal communication.

Q4. Observe the given figure and answer the following questions- (1+1+1+2)

1) Which painting style is visible here?

i) What theme is followed in this painting style?

i)  What type of colours were used in this painting style?

iv) On what type of monuments will you find such intricate designs?

Q5. Answer the following questions in one word or few words- (1x10=10)

i)  Who was the author of Akbarnama?

i) Name the centers of Sufi activities.

i) Name any two gharanas of Khathak.

iv) Who introduced Chauth and Sardeshmukhi?

v) Give one example of local wind.

vi) What is the temperature at which condensation takes place known as?
vii) Name the cheapest means of transport.

viii) Name the gold capital of the world.

iX) Where was the first paid radio advertisement aired?

X)  Which is the largest exporter of merino wool in the world?

Q6. Answer the following questions in very brief - (2x5=10)

i) What is the significance of Surat as a trading port during the medieval period?
i) Write two features of the Mansabdari system.
iii) What is a combine harvester?
iv) Write a short note on media ethics.
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v) Why is Kerala considered the healthiest state of India? (give two reasons)
Q7. Answer the following questions in brief- (3x5=15)

1) How did the nomads and the tribal people live?

1) What were the common features of the Bhakti movement and the Sufi movement?
1il) What are erg, reg and hamada?

IV) Name the three types of rainfall and describe each of them briefly.

V) How does a weekly market differ from other markets?

Q8. Answer the following questions in detail- (5X3=15)

)} Who was Shivaji? Mention the main achievements of Shivaji. (Any three)
OR
Describe the occupation and administrative system of Ahoms.

i) a) Write the effects of ocean currents. (any three)
b) Write special features of the Mediterranean forests.
OR
Compare and contrast cattle rearing in the prairies and the veld.

iii)  What are elections? What is the importance of fair elections?
OR
What is Tawa Matsya Sangh? How it helped farmers to increase their income?

Q9. Look at the given image to answer the following questions. (1+2+2)
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1) What type of rainfall is explained in the image above?
i) In which two zones are this type of rainfall common?
i) Explain the movement and convergence of two air masses in this type of rainfall.

Q10 i) On the outline map of India mark the following: (2)
a) Surat
b) Masulipatnam
c)

ii) Observe the given maps and answer the following questions. (1+1+1=3)

Atlantic

Ocean

a) What is the location of veldt?
b) Which desert lies on the east of the veldt?
c) Which important cities are in the veldt?
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St. PBN PUBLIC SCHOOL, GURUGRAM
UNIT TEST IV
CLASS - VII
MATHEMATICS
SAMPLE PAPER
Time: 2 Hours M.M: 80
General Instructions:
e All questions are compulsory.
e Question paper consists of five parts.
e Part-I contains 10 Multiple Choice Questions, each carrying 1 mark.
e Part-11 contains 11 questions each carrying 2 marks.
e Part-111 contains 8 questions each carrying 3 marks.
e Part-1V contains 4 questions each carrying 4 marks.
e Part-V contains 2 case study questions each carrying 4 marks.

Part-1
Q.1 Choose the correct option and write in your answer sheet (1X 10=10)
. 45%=__
(a) 45/100 (c) 1/100
(b) 40/100 (d) 35/100
ii.  Atriangle having all any one angle equal to 90° is known as
(a) acute angled triangle (c) right angled triangle
(b) obtuse angled triangle (d) equilateral triangle

iii.  The reciprocal of -1 is
(@ 1 (c)2

(b) -1 (d) -2

iv.  Express the speed of light (3 x 10°m/s) in the expanded form.
(@) 3m/s (c) 300000000 m/s
(b) 38000 m/s (d) 30000 m/s

v. The sum of three times a and 8 is 23. Express it in mathematical form.
(@a+8=23 (c)a-8=23
(b)8-a=23 (d)3a+8=23
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vi.  The probability of a sure event is

(@) 1/2 (b) 0
(€)1 (d) 1/3
vii. Ifa, b and c are in continued proportion, then b is called the
(@) third proportional (c) mean proportional
(b) fourth proportional (d) direct proportional
viii.  The total distance covered by the boundary of a closed figure is known as
(a) area (c) volume
(b) perimeter (d) none

In each of the following questions, an Assertion (A) and a corresponding Reason (R)

supporting it are given. Study both the statements and state which of the following option is
correct.

IX. Assertion (A): (-1)3=-1
Reason (R): (-1) raised to any even power is (-1).
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) A is true, but R is false.
d) A is false, but R is true.

X. Assertion(A): The terms 2x2y, -4yx?, 15x2y are like terms.

Reason (R): The terms having same variables with same number of powers are called
like terms.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.
c) A is true, but R is false.
d) A is false, but R is true.

Part 1l

Q.2 Solve the following questions: (2 X11=22)

I. Raghav starts from home and goes 56 m due South and then 33 m due East to reach
his office. How far is his office from his home?
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viii.

Vi.

Vil.

IX.

XI.
present age.

Find the value of n in 72"2 = 72 = 492

Rahman hired a taxi to visit his uncle. The taxi charges %11 per kilometre and levies a
fixed charge of *150. Write an algebraic expression for the above situation, if he hired
the taxi for x km.

Solve 7a + 1 = 22 using transposition method.
A man walks 105 m in a minute. How long will he take to walk 5.6 km?

The height of a parallelogram is five times its base. If the area is 320 cm?, find the
base and height of this parallelogram.

The daily expenses (in %) of 20 members of a society are given below:
1200 1350 1300 1150 1200 1250 1350 1300 1200 1350
1300 1200 1250 1250 1350 1200 1350 1250 1300 1350
Make a frequency distribution table for the above data.

The heights of two buildings are 47 m and 35 m, respectively. If the distance between
the two buildings is 16 m, find the distance between their tops.

Express (-6/7) x (-6/7) xaxaxaxbxbxbxb in exponential form:
If x=-1andy =2 and z = 2, then find the value of:
X2+ y* - 22 + xyz
Radhika will be 3 times as old as she was 4 years ago after 18 years. Find her

Part —I11

Q.3 Solve the following questions: (3X8=24)
I.

A fruit seller purchased 20 kg of apples at a rate of I50 per kg. Out of these, 5% of the
apples were found to be rotten. He sells the remaining apples at a rate of 60 per kg. Find
the loss or profit in percentage.

In A ABC, AB = AC. Find angle ABC, angle ABC and angle ACD.

prage/F
A

BB . D
Simplify: (48/17 + 12/7) + (63/5 + 9/20)
Subtract the sum of a2 - 2b2 + 5ab and 6a2 - 7ab - 9b2 from the sum of - 2a2 + b2 - ab and
a2 - 4b2 + 9ab.

Find the value of x, if (3x -1)/4 + 3 = (2x +1)/4 - 5.
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vi.  Two buildings of different heights are standing vertically on the same road. At a
particular time, the ratio between the lengths of their shadows is 9: 2. If the height of the
smaller building is 10 m, find the height of the other building.

vii. A wire is in the shape of a rectangle. Its length is 54 cm and breadth is 28 cm. If the same
wire is re-bent in the shape of a square, what will be the measure of each side? Also, find
which shape encloses more area.

viii.  Find the median of the following data: 22, 65, 38, 47, 96, 82, and 16. If 38 is replaced by
83, what will be the new median?
Part 1V
Q.4 Solve the following questions: (4 X4=16)
I. (@) The price of sugar has decreased from 56 per kg to 54 per kg. Find the percentage
decrease in price.
(b) Convert the following percentage into ratios.
1. 142%
ii. 57%
Ii. (a) Evaluate: 3/8 + (-5)/7.
(b) The sum of two rational numbers is 5/6. If one of the numbers is 4/9, find the other.
iii.  Arrange the following in ascending order: 4% (42)3, 4 x 42, 45 + 43, 43 + 42, 45 - 40
iv. (a) The shadow of a 4-m tall tree at a certain time of the day is 5.2 m long. What is the

height of another tree whose shadow is 20.8 m long at that time?
(b) Ramesh bought 5 shirts for 1250 from a store. Ramesh calculated the unit price as
%200 per shirt. Is it the correct price? If not, what is the correct unit price?

PART -V (4X2=8)

While making a mask, Maya removed two circles of radius 3.5 cm each and a rectangle

of length 5 cm and breadth 1.5 cm from a circular card of radius 28 cm, as shown in the
adjoining figure.
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a) Find the perimeter of the given rectangle.

b) Find the area of two small circles.

c) Find the area of remaining card.

d) Which is greater: area of rectangle or perimeter of rectangle?

1. Marks obtained by a student in first and second terms using a double bar graph are
shown below:

(@) In which subject has the student shown the most improvement?
(b) In which subject the performance of the student has gone down?
(c) In which subject does the performance remain the same?

(d) By how many marks the performance has increased in science?
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St. PBN PUBLIC SCHOOL
ANNUAL EXAMINATION

CLASS - VII
SCIENCE (SAMPLE PAPER)
TIME: 3 Hours MM-80
GENERAL INSTRUCTIONS:
1. All questions are compulsory.
2. Read each question carefully.
QI. Choose the correct option and write in your answer sheet: (1x10=10)
1. What is the source of cotton fibre?
a) Animals b) Plants c) Minerals d) Synthetic processes
2. Which process converts fibres into yarn?
a) Weaving b) Spinning ¢) Ginning d) Knitting

3.Which part of the clinical thermometer contains mercury?
a) The tube b) The scale c) The bulb d) The cap
4. The substances that are used to test whether a substance is acidic or basic is called
a) Indicator b) Acid c) Base d) Salt
5. Give the chemical name of Lime water
a) Calcium hydroxide b) Magnesium hydroxide
¢) Ammonium hydroxide d) Sodium hydroxide
6. What is the result of rusting of iron?
a) Iron turns into water b) Iron forms iron oxide

¢) Iron turns into iron sulfide d) Iron remains unchanged



7. Which structure prevents the backflow of blood in the heart?

a) Valves b) Atrium c) Ventricles d) Arteries
8. What process in plants helps forests maintain oxygen levels?
a) Respiration b) Photosynthesis c) Transpiration d) Decay

The question below consists of an Assertion and a Reason. Use the following key to choose the appropriate
answer
(a)Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Alis true but R is false.
(d) A is false but R is true.
9. Assertion- silk fibres are made of a protein .
Reason- silk fibres from cocoons are separated out and reeled it silk threat.
10. Assertion (A): Seeds produced by sexual reproduction are genetically identical to the parent plant.
Reason (R): Sexual reproduction involves fusion of male and female gametes.
Q I1. Answer in one word/sentence (1x6=6)
1. wool is obtained from which body part of sheep?
2. In a mercury thermometer, the level of mercury rises when its bulb comes in contact with a hot object.
What is the reason for this rise in the level of mercury?
3. What name is given to those substances which do not change the colour of either red or blue litmus
paper?
4. Name the components of blood.
5. A closed continuous path for the flow of the current.
6. The layer of tallest trees in a forest.

Q I11. Answer the following questions in 30-40 words (2x5=10)
1. Name the animals that give us wool.

2. Why do we perspire more in summer than in winter? Name the body organ which helps in perspiration.
3. What is pollination? Name its types.
4. What is a virtual image?
5. Why is it said that sometime forest fires are beneficial for the forest? How can we control forest fires?
Q IV. Answer the following questions in 50-60 words (3x9=27)
1. What is neutralization reaction? Explain with example and write the reaction.
2. Why cannot a chemical change be normally reversed?
3. Describe the pathway of air in the human respiratory system.
4. Explain the laws of reflection.
5. With the help of a labelled diagram, explain the dispersion of white light when it passes through a prism.
6. Draw and describe an electric circuit consisting of a battery of four cells, a switch, conducting wires and
a bulb.
7. Why a copper wire is not used in making the filament of electric bulb and as a heating element of
heater?
8. Describe the role of forests in maintaining the oxygen-carbon dioxide balance.
9. What are the three R's of waste management? Explain their importance.
Q V. Answer the following questions in detail. (5x3=15)

1. Tropical rainforests have a large population of animals. Why?



2. Explain the process of sexual reproduction in plants with a labeled diagram of a flower.
3. Explain the process of composting and its benefits in waste management.

QVI. Value based question 3)
1. To keep her soup warm, Paheli wrapped the container in which it was kept with a woollen clothes. Can she
apply the same method to keep a glass of cold drink cool? Give reason for your Answer:
QVII. HOTS based question 3
Paheli says her mother puts ladyfinger and other vegetables in water if they are somewhat dry. She wants to
know how water enters into them.
QVII1. Diagram based questions. (3x2=6)
1. Draw a well labelled diagram of Evaporation.
2. Draw a well- labelled diagram showing the exchange of gases in the alveoli.



St. PBN PUBLIC SCHOOL, GURUGRAM

ANNUAL EXAMINATION
CLASS - VII
SUBJECT - COMPUTER
SAMPLE PAPER
TIME: 3 Hours MM: 80
NAME: ROLL NO:

General Instructions:
1. All questions are compulsory.
2. Read each question carefully.

Q.1 Select the correct answer and write in your answer sheet- (1x10=10)
1. Which Python statement is used for decision-making?
a) for b) if c) while
2. In HTML, which tag is used to insert an image?
a) <img> b) <image> C) <picture>
3. Which function in Excel finds the largest value in a range?
a) SUM() b) MAX() c) MIN()
4. Which of the following is an Internet service?

a) Email b) Excel c) Paint
5. What is the file extension of an HTML document?

a) .html b) .htx c) .doc
6. Which tag is used to create a table in HTML?

a)<table> b)<tab> C)<grid>

7. The expression 14//3 results to
a) 9 b) 4 c)5

8. The <th>tagin HTML is used for:

a) Table heading b) Table cell c) Table row
9. refers to an illegal entry in to a computer system or network.

a) Hacking b) Grooming c) Bullying
10.Always if you are not accessing your account after login.

a) Logout or sign out b) Email verification c) Signin



Q.2 Fill in the blanks: (1x8=8)

1.

o vk WwWN

8.

In Python, the statement is used to check multiple conditions.

The attribute used to specify the image path in the <img> tag is

In Excel, the function is used to find the average of a range.

A cyber attack that tricks users into revealing personal information is called

The <ta> tag in HTML defines a in a table.

are an attractive way of presenting information in the form of rows and

columns.
The process of ‘befriending’” a young person online to facilitate online or physical sexual
abuse is called

is any illegal activity done through internet.

Q.3 State True or False: (1x5=5)

1.
2.
3.
4.
5.

Phishing emails attempt to steal personal data.

The e1if statement in Python is used as a replacement for ir.
NLP is used for translating languages.

Cyberbullying is not a type of cybercrime.

In Excel, the COUNT() function is used to count text values.

Q.4 Assertion and Reason-

In the following questions a statement of assertion is followed by a statement of
reason select the correct answer (1x2=2)

1. Assertion: Using the same password for multiple accounts increases the risk of cyber
threats.
Reason: If one account is hacked, all other accounts with the same password
become vulnerable.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation
of Assertion (A
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

2. Assertion (A): The <th> tag is used to define table data cells.

Reason (R): The <th> tag makes the text bold and center-aligned by default.



a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation
of Assertion (A)

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.

Q.5 Application based questions:
1.Answer these questions- (1x4=4)

a. Aman is designing a webpage where he wants to display a list of favorite programming
languages. Which type of list should he use if he wants the items to be numbered?
Write an example.

b. A banking system needs to check whether a user has sufficient balance before allowing
a withdrawal. Which control statement should be used, and how?

c. Rahul receives an email from an unknown sender claiming he has won a lottery and
asking for his bank details. What type of cyber attack is this, and how can Rahul
protect himself?

d. Manas has created a table and he wants the table borders to be collapsed in to a
single border. Which property should he use?

2. Write the full form for following- (1x5=5)
a) WWW
b) IDLE
c) HTTP
d) URL
e) VIRUS
3.Write the HTML code for the following-
a. To insert image with extension jpg (1)
b. To create a table with 2 rows and 1 columns. (1)
c. To create given list
List of Stationary (2)
e Pen
Pencil
Book

Notebook
4. Write the output of the following code segments- (2)



a) a=10
b=5
print(a**b)
b) a=100
b=20
print(a/b)
print(a%b)

print(‘a*b’)

Q6. Answer the following in one word or one sentence. (1x10=10)

© 0 NV REWNRE

What does NLP stand for?

Name one common cyber threat.

Which tag is used to insert an image in HTML?
What does HTTPS stand for?

Which tag defines the title of the web page?
What do you mean by formulas in excel?

Write the syntax of conditional statement.

Write any one rule to create a variable in python.
Define cybercrime.

10.What is cell reference in excel?

Q7. Answer the following in short- (2x5=10)

1. What is the difference between a formula and a function in Excel?

2. What are control statements in Python? Give an example.

3. Explain the use of the <tab1e> tagin HTML.

4. What is NLP, and how is it used in real life?

5. Discuss various table properties.

Q8. Answer the following questions:[Attempt any 4] (3x4=12)

1. What is cyber safety? Explain different ways to stay safe online and prevent cyber
threats.

2. Explain the difference between for and while loops in Python with examples.

. What is phishing? How can people identify and protect themselves from phishing

attacks?



5.
6.

. How are images inserted in an HTML document? Explain the <img> tag and its attributes
with an example.

Differentiate between <ul> tag and <ol> tag.

What do you know about Absolute reference? Explain with the help of an example.

Q9. Case study based questions.

a. Observe given output and write html code. (4)

P WNR

HTML Tahles +

file:/ /7 Ce/Users/admin/Desktop/first.html

Firstname |Lastname||Age
Aryan Gupta 23
John Reece 32
Samntha |Groves |41

b. The internet provides a wide range of services that enable communication,
information sharing, online transactions, and entertainment. Some common internet
services include email, which allows users to send and receive messages; web
browsing, which helps access information through websites; cloud storage, which
enables users to store and access data remotely; and social media, which allows
people to connect and share content globally. cyber security has become essential to
protect users from online threats. Cyber security involves practices and technologies
designed to safeguard personal and organizational data from cyberattacks. Some
common cyber threats include phishing, where attackers trick users into providing
sensitive information; malware, which consists of harmful software like viruses and
spyware; and hacking, where unauthorized users gain access to systems.

Answer the following questions-

How does email help in communication? (1)
What is malware, and what harm can it cause? (1)
What is e-commerce, and how does it benefit users? (1)
What is two-factor authentication (2FA), and why is it important? (1)



